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-5 5E1/TCS-305 1037/1039

Odd Semester Examination, 2017-18
B.TECH. (SEMESTER-III) (EEE/ECE)

COMPUTER BASED NUMERICAL TECHNIQUES

'me: 03:00 Hours Max Marks : 75
ite - Altempl all questions.
Attempt any three parts of the fallowing [Sx3=15]
{a) Explain the method of Newton Rapghson for computing roots. Apply it for finging x
froni ¥ 25=0
(b} Tind & real ront of the equation cosx = 3x - 1 correct to 3 decimal places using
leration method

Find a rez! oot of the equation x'- x -1 = 0 by Bisection method upte 2 decimal
placea

fa) Find | ~l~'v: Jx by Trapezoidal rule
T
(&) Fina a positive real root of the equation x log 4 x « 1.2 = D by Bisection-Methed

Corract to 2 decimal places

Attempt any thres paris o the following [Sx3=15]

N\

(a) Evaluate | . by using Weddle's Rule

1+x
(o) Find the velacity at t=4 sec from the following table

Fima(t) 1 2 B 8 10
Distance(x) 0 1 5 21 27

(¢) For the differential equatian : ::—\ =X - }3 y (0)=0

Calculate y(0.2) by Picard mathod to third approximation
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(d) The aistance covered by an athelete for the 50 meter race is given in the foliowing
table -

Time(sec) O 1 2 3 4 § 6
Distance, (4] 25 85 155 245 385 S

Determine the speed of athelete at § sec. correct to two dacimals.

5.2
()  Evauate [logx dx by Numerical Integration
3

3 Attempt any two parts of the following [7.5x2=15]

g} Find j’- " at x =0 1 from the following table
N
x: 0.3 02 0.3 04

0 0975 0 9900 098776 0.8604

W 4 mear ts BO m wide The depth 'y of the river at a distance ‘x' from one bank s
guwen by the fallovang table.

X € 10 20 30 40 50 80 70 80
¥ 0 4 T 8 12 1S 1 8 3

Find the approximate area of cross-section of the river

Using Newton Divided difference formula | calculate the value of (8)from the

(C)
foliowing data
X 1 2 7 B
y 1 5 s 4

- Attempt any two parts of the following: [T 5x2=15]

(@) Using Gauss Backward interpolation formula, find the population for the year 1936
given that
Year - 1801 1811 1921 1831 1841 1851
Pogpulation (in thousands) . 12 15 20 271 3 52

L]
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{(b)  What is statistical quality control ? write the importance of SAMPLING in quality

control
(c) Prove that (1) A log f(x) =log [1+ A f(x)/ f(x)]
(n) E=1+A
5. Attempt any two parts of the following [7T5x2=15]

(a) A manufacturer claims that only 4% of his product supplied by him are defective. A
random sample of 600 products contains 35 defective Test the claim of
manufacturer,

(b)  Apply Gauss ~Seidal iteration method to solve the foliowing equations(Only two

approximations)’

20x+ y- 2z = 10
Ix + 20v- =z = .18
2x -3y + 207 = 52

(c)  Fit & straight line to the following data using Principle of Least square :

X 1 2 3 4 8 :
y 24 3 36 4 5 8
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Suggested replocements! corrections in out of syllabus questions in the subjec’

301/ TCS-J05(CBNT)
Q2 (b) Find the cubic polynor‘mal which takes the following values
X 4] ‘ 1 2
LY 1 2 : 1
Q2 (¢) Using Bessel's formula, find f(25) from the following table
X : 20 24 28 2
f(x): 2854 3162 3544 3992
Q3(a) Find dy’/dx must read as dy/dx.

Q3 (¢) From the following table of hall-yearly premium for policies matunng al
dittarent ages, estimate the premiim for polices maturing at age of 46

10

age | as s | 85 80
il L1
I_fr_efllurn_‘ 1 1l4 84__..; 9515 53_32 74 48
Qs (o) Find the least square fit of the form vy =u + bx” to the foliowing data
A x >, R N - |
pro— e —t 5 3
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